F—BE KA (E+ERERERER)

THIFEEERINZEIES

B4 (FH)

YEHE SEEPE | MEETH 2R
SBINA 1,789 1789 0
BEHIESUUA 2,552 2532 20
REEREMISINA 38,538 42898 A 4,360
ZERULA 111,603 96777 14,826
ENEEA'DN 510 510 0
EEINA 20,330 20534 A 204
PN EETON 762,313 774826 A 12,513
B | A |[BFIESENA 6,886 6239 647
2 FEEEUY XSSV 34,596 32997 1,599
= EEEEON 5,814 7156 A 1,342
BHBEZEIA 30 30 0
(: ZHUF SR HEUNA 25 26 A1
T ZOADOYLA 4,699 4161 538
SEEEHNAGT (1) 989,685 990,475 A 790
g ANEEH, 707,669 691221 16,448
1R EE 190,293 189412 881
B3 EHEXH 52,713 53406 A 693
& MFERIEEETH 6,886 6239 647
4 [FIRESIEERE 184 472 A 288
BfEESH 510 510 0
BmREX 1,940 1870 70
ZOMOZ S, 80 46 34
SEEF T (2) 960,275 943,176 17,099
BEITHERINZEERE (3) = (1) — (2) 29,410 47,299 A 17,889
EEEEEES M 10,498 43517 A 33019
i IPAF SR - A EEORE S 2,343 2342 1
HEsRE RS T HIET (5) 12,841 45,859 A 33018
MRS ERINEESE (6) = (4) — (5) A 12,841 A 45859 33,018
” EHRE{FSEIUIA 120 370 A 250
] g [B2EzEERmERA 1,000 8000 A 7,000
O\ 5 [ParEEEmERA 0 4000 A 4,000
=] ZOAMDIEBNCLBIRA 226 282 A 56
EJ) ZOMOEENNAET (7) 1,346 12,652 A 11,306
€| & |[BHEME%® 1,000 1000 0
& |y |EEEIEESH 2,220 3870 A 1,650
Z ZOMOEENZHET (8) 3,420 4,870 A 1,450
w [ZOMOEBERINEELE (9) = (7) — ( A 2,074 7,782 A 9,856
LRSI EEA (10) = (3) + (6) + (9) 14,495 9,222 5,273




éFfi

SEZHRA (B EEERERRKR)

PNHREERXS EESWNIZAREK

=BT oo |mEmal, . _
HERE HIE#ER (BEEE 1;;'\ EXELE mett/ m%T ,Eﬁf =% S

F—iav AR “
SBEINA 0 0 0 0 0 0 0
BSHEUNA 0 0 0 0 0 0 0
BERERHSIA 0 0 9,300 0 0 0 9.300
I UN 0 0 0| 37,264 3557| 18500 59,321
FEIVA 0 992 17.291 0 48 o| 18331
Iy |[DERRBEERA 19,498 0 0 8,306 0 0| 27,804
x| 2 B IEBEINA 0 0 0 0 0 0 0
BEERUY-CAZBEINA 0 0 0 2,162 0 0 2,162
% EBEBEINA 5814 0 0 0 0 0 5814
A EESINON 0 0 30 0 0 0 30
E2) ZEF SR YDA 1 0 1 0 0 0 2
[ ZOAOULA 512 0 170 1 0 0 683
& SEEEUNAGT (1) 25,825 992 26,792 47,733 3.605| 18500 123.447
2 ANFBEZH, 21,301 199 6433 37,059 0| 16,217| 81,209
IR EEELL 1,874 663| 18,539 8,195 5178 641| 35090
% EHEXE 1,043 130 1,790 1,879 174 1,642 6,658
% MPIEEES T 0 0 0 0 0 0 0
H FIREEINEREE 0 0 0 0 0 0 0
BOEETH 0 0 0 0 0 0 0
BIR & SZ 0 0 0 0 0 0 0
ZOfDZ 0 0 0 0 0 0 0
SEIFT LT (2) 24218 992 26,762] 47,133 5352] 18,500] 122,957
EE AN =% (3) = (1) — (2) 1,607 0 30 600] A 1,747 0 490
= EIE SRR 0 0 0 0 0 0 0
2| 3 - xEsomAss 0 0 0 0 0 0 0
MR fEE st (5) 0 0 0 0 0 0 0
¢ | RS ESINTERE (6) = (4) — (5) 0 0 0 0 0 0 0
z EHSSEUINA 0 0 0 0 0 0 0
o E&E T EREREINA 0 0 0 0 0 0 0
i N [EEXHEASINA 0 0 0 0 800 0 800
A [BHERSRHRASINA 0 0 0 0 962 0 962
o ZOMDEECLBIIA 0 0 0 0 0 0 0
& ZOMDEENRAGT (7) 0 0 0 0 1,762 0 1,762
)] ERSMETH 0 0 0 0 0 0 0
s HemrarExs 0 0 0 0 0 0 0
& | X [ErEExn 0 0 0 0 0 0 0
z | B [BRRoBEEASSH 470 0 30 0 0 0 500
) HEXHEHEAS T 362 0 0 600 0 0 962
= ZofsoEET st (8) 832 0 30 600 0 0 1,462
ZOMDESESINTZRE (9) = (7) — (| A 832 0 A 30| A 600 1,762 0 300
LA @At (10) = (3) + (6) + (9) 775 0 0 0 15 0 790




H—SE MR G+ EAEEERR
HEEAFEXRS BEERIARE
B 6 (FM)
== na
g [P TRV |xaw [tad [mad mux s (B0 eaw |,

EAS ¢S50 = |gey |B%E |gem |Hye [BXE [ FA|TA|TA |[EEA |EEA EEA o
- A (B wso |mEw (aewn |D¥E |xem |rre |BEE|) (T4, |71 (T [EEA (EEL G EEL SN lmxrs

BEHE Eax aa” |we |T7 |HEFE AT laxm (2N (777 [EEm (N, [pot [t |v—t |hoi ko [FOLSR—Le| 7T (2R

= Ea xg = 27 TR ST, (R [Rey (R |BacE |aaaE (IR (Uos | ol

N M e L T L R - o

SEIRA 1,789 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,789
Bl ER LN 1 0 0 0 0] 2400 0 1 0 0 0 0 50 0 50 50 0 2,552
EEEEMEEIRA 27,308| 1,575 200 1,375 350 0 0 0 0 0 0 0 0 0 5 0 0 0 0 29,238
REERIRA 0 0 46,960 2,344 667 0 0 0 211 700 700 700 0 0 0 0 0 52,282
BEERA 0 0 510 0 0 510
EETIUN 0 18 18 238 0] 1743 0 0 0 0 0 0 0 0 0 0 0 0 1,999
IR | N EERIRBZIRA 0 0 0 0 0 0] 25475 0| 25,184| 45393| 26,704| 34,441| 163,674| 107,398| 155,157| 108,901| 42,182| 734,509
F A [REZESERA 0 0 0 0 0 0 0| 6,886 0 0 0 0 0 0 0 0 0 6,886
% FEERIY -CREBEIRA 0 0 0 0 0 0 0| 28,856 3,576 0 0 0 1 0 1 0 0 32,434
& EEE TN 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
& BHEERA 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
c REFIRECHEIRA 3 0 0 1 0 9 1 1 1 1 1 2 1 0 1 0 1 23
TOABDURA 3,093 13 13 0 0 0 0 0 574 0 5 153 5 75 0 96 0 2 4,016
& BLEIESHINAGT (1) 32,194| 1,606 200 1,406 47,548| 2,855| 2410| 2,409| 25476| 36,318| 28972 46,099| 27,558 35,148| 163,806 107,398| 155,305 108,951| 42,185 866,238
® AEFESTH 33,522 0 0] 31479| 1536 1376 0] 18,638| 23,161| 21,796 32,219| 16,143| 23,650| 112,972 76,871| 123,130| 78,346| 31,621| 626,460
IR EEEI 0] 1,396 1,396 13,984 783 986 5| 1,288] 3,127 2,192 8,167 5,575 7,862| 37,082 17,621| 30,515 17,086 7,534| 155,203
< EHEX 12,762 10 10 645 26 48 0] 1,257] 1,391 1,590 1,778 2,558 1,446 7,319 3,827 5,740 3,078 2,580 46,055
2 S IEEE 0 0 0 0 0 0 0| 6,886 0 0 0 0 0 0 0 0 0 6,886
H FREBBEERHA 0 0 0 0 0 0 0 0 20 18 0 0 144 0 1 1 0 184
BEER 0 0 0 510 0 0 0 0 0 0 0 0 0 0 0 0 0 510
g d 0 200 200 1,740 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,940
DO 0 0 0 0 0 0 0 24 0 0 5 0 0 0 50 0 1 80
BEEBZHET (2) 46,284) 1,606 200/ 1406| 47,848 2.855| 2410 5| 21,183] 34,589| 25598| 42,182| 24281| 32,958| 157,517 98,319| 159,436 98,511| 41,736/ 837318
FREBASREZER (3) = (1) - (D | A 14,090 0 0 0| A 300 0 0 2404 4293 1,729 3,374 3917 3,277 2,190 6,289 9,079| A 4,131 10,440 449 28,920
H % EIEEERGZH 0 0 0 0 0 0| 1,950 0 151 351 0 0 3,135 3,498 0 1,193 220 10,498
E T7ATLR)-AEBOR AL 0 0 0 0 0 0 0 842 0 0 691 810 0 0 0 0 0 2,343
x MEREEmEHET (5) 0 0 0 0 0 0 o[ 1,950 842 151 351 691 810 3,135 3,498 0 1,193 220 12,841
i | s EamEER (6) = (4) - (5) 0 0 0 0 0 0 0|A 1,950 A 842) A 151 A 351 A 691 A 810| A 3,135 A 3,498 0| A 1,193 A 220| A 12,841
z RS EEIIRIA 0 0 0 0 0 120 0 0 0 0 0 0 0 0 0 0 0 120
1) EEBUEERARA 0 0 0 0 0[ 1,000 0 0 0 0 0 0 0 0 0 0 0 1,000
ft N [ BEXHRASIRA 470 0 0 0 0 0 0 0 0 0 0 0 0 0 30 0 0 500
A | BLERXSRHEASIRA 13,623 0 300 0 0 3 0 0 0 0 0 0 0 0 4,300 0 0 0
?) TORDTEBNCLBURA 0 0 0 0 0 0 0 0 0 0 0 0 226 0 0 0 0 226
] TOBOTFEBRAGT (7) 14,093 0 0 0 300 0 o[ 1,123 0 0 0 0 0 0 226 0 4,330 0 0 1,846
B RPEHESTH 0 0 0 0 0] 1,000 0 0 0 0 0 0 0 0 0 0 0 1,000
(C EEEUEESH 0 0 0 0 0f 2,220 0 0 0 0 0 0 0 0 0 0 0 2,220
& | X |[EIEESR S 0 0 0 0 0 0 0 200 0 0 0 0 0 0 0 0 0 200
F [ BERHEASTH 0 0 0 0 0 0 400 0 400 0 0 0 0 0 0 0 0 800
1Y R XD EHRAEZ 3 0 0 0 0 303 470 530 610 840 530 640 3,000 1,970 0 9,150 180 0
= ZOMOESZHE (8) 3 0 0 0 0 0 0f 3,523 870 730 1,010 840 530 640 3,000 1,970 0 9,150 180 4,220
TOMDTFEENERUNZELE) 14,090 0 0 0 300 0 0|A 2,400 A 870] A 730| A 1,010 A 840] A 530] A 640| A 2,774| A 1,970 4330[ A 9150 A 180| A 2,374
SHARISERAT (10) = (3) + (6) + () | 0 0 0 0 0 0 0 4] 1,473 157 2,213 2,726 2,056 740 380 3,611 199 97 49 13,705




